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_______________________________________________________

Members Present: _____________________________________________________________


Reviewing Boolean expressions and the switch statement
Objectives

At the end of this exercise, students will: 

· Practice with evaluating Boolean expressions

· Be prepared to use the switch statement in a lab
Getting ready

1. All team members - record your notes on your own response sheet.

2. Hand in for today each individual paper.
Part 1 Comparing Strings
/**
   This program correctly compares two String objects using
   the equals method.
*/

public class StringCompare
{
   public static void main(String [] args)
   {
      String name1 = "Mark";

  String name2 = “Ma” + “rk”;
      String name3 = “Mary”;

       
      // Compare "Mark" and "Mark"
      if (name1.equals(name2))
      {
         System.out.println(name1 + " and " + name2 +
          " are the same.");
      }
      else
      {
         System.out.println(name1 + " and " + name2 +
          " are the NOT the same.");
      }

      // Compare "Mark" and "Mary"
      if (name1.equals(name3))
      {
         System.out.println(name1 + " and " + name3 +
          " are the same.");
      }
      else
      {
         System.out.println(name1 + " and " + name3 +
          " are the NOT the same.");
      }
   }
}
1. There are two kinds of containers, primitive and reference. We have used the relational operators to compare values of primitive types, but how can we compare reference types.
2. What is the kind of data type for Strings?  primitive OR reference
3. Reference types have a method called, equals, that lets us compare those types. For Strings, the method returns true if the two Strings contain the same characters in the same order and false otherwise.  You see an example of method calls to equals in this example.

4. So, when we run this code, what would you expect to be displayed by the System.out.println calls?

	


5. If we want to compare two strings, but don’t care about the case of the letters, you can also use equalsIgnoreCase which returns true if the characters are the same regardless of case. So “abc”.equalsIgnoreCase(“ABC”) will return true.  

6. READ Chapter 3.6 for more information about comparing Strings.

7. Do the Checkpoint 3.20 and 3.22.
8. Optional (you should read about the compareTo method in this same section). Do Checkpoint 3.21.

Part 3 – The switch statement
 1 import java.util.Scanner; // Needed for the Scanner class
 2 
 3 /**
 4    This program demonstrates a switch statement.
 5 */
 6 
 7 public class PetFood
 8 {
 9    public static void main(String[] args)
10    {
11       String input;     // To hold the user's input
12       char foodGrade;   // Grade of pet food
13 
14       // Create a Scanner object for keyboard input.
15       Scanner keyboard;
16       keyboard = new Scanner(System.in);
17       
18       // Prompt the user for a grade of pet food.
19       System.out.println("Our pet food is available in " +
20        "three grades:");
21       System.out.print("A, B, and C. Which do you want " +
22        "pricing for? ");
23       input = keyboard.nextLine();
24       foodGrade = input.charAt(0);  // a technique for extracting a single character from input
25 
26       // Display pricing for the selected grade.
27       switch(foodGrade)
28       {
29          case 'a':
30          case 'A':
31             System.out.println("30 cents per lb.");
32             break;
33          case 'b':
34          case 'B':
35             System.out.println("20 cents per lb.");
36             break;
37          case 'c':
38          case 'C':
39             System.out.println("15 cents per lb.");
40             break;
41          default:
42             System.out.println("Invalid choice.");
43       }
44    }
45 }

1. Examine this code. The switch statement is found beginning with line 27 and extending to line 43.

2. A switch has a control variable which controls the operation of the code in the switch. This control variable is foodGrade. What is the data type of foodGrade? ____________________________
3. For each possible value of foodGrade that we want to use, there is a case. How many cases will this switch work with?______________
4. The case provides an entry point to the structure. For each value of foodGrade, the case statement will execute if the case value matches the control variable value. So if foodGrade contains ‘b’, the execution drops to line 33. Line 34 contains another case, so we continue on to the line 35 code. This code will execute for either case ‘b’ or ‘B’. 

5. Line 36 contains a break. Think of a break as “break out of this structure”. The break then ends execution of the switch and control passes to line 44 or the next line following the switch statement.

6. What is a possible value of foodGrade that does not have a corresponding case?  (Think of what users might do.) ____________
7. What part of the switch statement do you think will execute if the user enters a value that is not found in a case? _______________
8. In your own words, what is the role of the default case. ___________________________________________
Part 4 – More practice with switch

A switch can be written as a series of if statements. Transform the switch statement in the PetFood.java program into an equivalent if/else structure. (Don’t forget the default).

If time, do Checkpoint 3.25 found on page 158.
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